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Exam Instructions

1. This mock test is based on the latest AISSEE Class 6 exam pattern.
2. The paper consists of 125 questions for a total of 300 marks.
    - Mathematics: 50 Questions – 150 Marks
    - Intelligence: 25 Questions – 50 Marks
    - Language: 25 Questions – 50 Marks
    - General Knowledge: 25 Questions – 50 Marks
3. Time Duration: 2 Hours 30 Minutes (150 minutes)
4. Negative marking: There is no negative marking.

 

Note: This test is brought to you by Studybox Doon – India’s Trusted Online Institute for Sainik School, RMS & RIMC Preparation.

To join our full course with live classes, weekly tests, and expert mentorship – contact us at:
� +91-91511 70611 | � www.studyboxdoon.com

Find the solution of (935421 × 625) =?

A. 584638125 B. 524896335

C. 542879412 D. 582365890

Please mark (✓) for the correct answer.

Two pipes A & B can ll the tank in 12 hours and 36 hours respectively. If both the pipes are opened
simultaneously, how much time will be required to ll the tank?

A. 6 hours B. 9 hours

C. 12 hours D. 15 hours

Please mark (✓) for the correct answer.

Question: 1 of 125 Marks: 3QID: 1708

Question: 2 of 125 Marks: 3QID: 1709
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) What will be the simple interest on Rs. 80,000 at 16(2/3) % per annum for 9 months?

A. 8,000 B. 9,000

C. 10,000 D. 11,000

Please mark (✓) for the correct answer.

Suresh borrows Rs. 10,000 for 2 years at 4 % p.a. simple interest. He lends it to Ramesh at 6 % p.a. for 2
years. Find his gain in this transaction per year.

A. Rs. 150 B. Rs. 200

C. Rs. 400 D. Rs. 450

Please mark (✓) for the correct answer.

At what rate percent per annum will sum of money double in 20 years?

A. 1.2% B. 2%

C. 4% D. 5%

Please mark (✓) for the correct answer.

A sum of Rs. 12,000 amounts to Rs. 15,000 in 4 years at the rate of simple interest. Find the rate of interest.

A. 6.25% B. 4.25%

C. 5.9% D. 5%

Please mark (✓) for the correct answer.

Which number is not divisible by 6?

A. 270 B. 385

C. 312 D. 432

Please mark (✓) for the correct answer.

Question: 3 of 125 Marks: 3QID: 1710

Question: 4 of 125 Marks: 3QID: 1711

Question: 5 of 125 Marks: 3QID: 1712

Question: 6 of 125 Marks: 3QID: 1713

Question: 7 of 125 Marks: 3QID: 1714
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If a number 573 xy is divisible by 90, then the value of x+y is

A. 13 B. 3

C. 8 D. 6

Please mark (✓) for the correct answer.

First four multiple of 7 are:

A. 7, 9, 11, 13 B. 35, 42, 49, 16

C. 1, 2, 3, 5 D. ] 7, 14, 21, 28

Please mark (✓) for the correct answer.

How many prime numbers are there between 1 & 20?

A. 7 B. 8

C. 9 D. 10

Please mark (✓) for the correct answer.

The ratio of two number is 15:11. If their HCF is 13, then the number are :

A. 75,55 B. 45,22

C. 104, 44 D. 195, 14

Please mark (✓) for the correct answer.

If 15.5 litre of re ned oil costs Rs1063.30, what is the cost of 1 litre of re ned oil?

A. Rs 68.60 B. Rs. 75.95

C. Rs. 70.89 D. Rs. 62.55

Please mark (✓) for the correct answer.

Question: 8 of 125 Marks: 3QID: 1715

Question: 9 of 125 Marks: 3QID: 1716

Question: 10 of 125 Marks: 3QID: 1717

Question: 11 of 125 Marks: 3QID: 1718

Question: 12 of 125 Marks: 3QID: 1719
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What is the value of 12·32 ÷ 2·2 ?

A. 5·8 B. 5·1

C. 5·4 D. 5·6

Please mark (✓) for the correct answer.

Make the smallest four digit number, using digits 0, 1, 2, 3 without repetition—

A. 0123 B. 1023

C. 1230 D. 1032

Please mark (✓) for the correct answer.

If 75% of a number is 15, then nd the number—

A. 20 B. 25

C. 40 D. 35

Please mark (✓) for the correct answer.

What is the difference between the third power of 2 and the second power of 3 ?

A. 2 B. 5

C. 3 D. 1

Please mark (✓) for the correct answer.

Find the supplementary angle of 55 ° ?

A. 35 ° B. 65 °

C. 40 ° D. 125 °

Please mark (✓) for the correct answer.

Question: 13 of 125 Marks: 3QID: 1720

Question: 14 of 125 Marks: 3QID: 1721

Question: 15 of 125 Marks: 3QID: 1722

Question: 16 of 125 Marks: 3QID: 1723

Question: 17 of 125 Marks: 3QID: 1724
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How many lines can pass through two given points ?

A. 1 B. 2

C. 3 D. infinite

Please mark (✓) for the correct answer.

An isosceles triangle has two sides with length X. The third side is half of x. Find its perimeter—

A. 21/2 x B. 5x/2

C. 3x D. 4 1/2 x

Please mark (✓) for the correct answer.

What is the value of 0·001/0·01?

A. 0·01 B. 0·001

C. 0·011 D. 0·1

Please mark (✓) for the correct answer.

How many seconds are there in 5 hours?

A. 18000 B. 18500

C. 1800 D. 20000

Please mark (✓) for the correct answer.

A train travels from A to B at the rate of 20 km per hour and from B to A at the rate of 30 km/hr. What is the
average speed for the whole journey ?

A. 20 km/hr B. 25 km/hr

C. 24 km/hr D. 28 km/hr

Please mark (✓) for the correct answer.

Question: 18 of 125 Marks: 3QID: 1725

Question: 19 of 125 Marks: 3QID: 1726

Question: 20 of 125 Marks: 3QID: 1727

Question: 21 of 125 Marks: 3QID: 1728

Question: 22 of 125 Marks: 3QID: 1729
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A batch of bottles was packed in 25 boxes with 12 bottles in each box. If the same batch is packed using 20
bottles in each box, how many boxes would be lled ?

A. 12 B. 15

C. 18 D. 20

Please mark (✓) for the correct answer.

A bag of chocolates can be shared equally among 4, 5, and 6 children with no leftover. What is the least
number of chocolates in the bag ?

A. 40 B. 50

C. 60 D. 80

Please mark (✓) for the correct answer.

The area of a square is 16 cm2. Find the Perimeter of the square—

A. 16 cm B. 32 cm

C. 8 cm D. 20 cm

Please mark (✓) for the correct answer.

In a school, 10% of the boys are the same in number as 1/5th of the girls. What is the ratio of boys to girls
in that school?

A. 1:2 B. 3:4

C. 3:2 D. 2:1

Please mark (✓) for the correct answer.

Divide 27 into two parts so that 5 time the rst and 11 times the second together equal to 195. Then ratio of
the rst and second part is:

A. 10:17 B. 17:10

C. 10:13 D. NONE

Please mark (✓) for the correct answer.

Question: 23 of 125 Marks: 3QID: 1730

Question: 24 of 125 Marks: 3QID: 1731

Question: 25 of 125 Marks: 3QID: 1732

Question: 26 of 125 Marks: 3QID: 1733

Question: 27 of 125 Marks: 3QID: 1734
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In a class of 125, 20% students can dance. 2/5 of the total students can sing and 2/5 of the remaining
students are good at sports. What is the respective ratio of students who can dance to students who are good at
sport?

A. 3:4 B. 9:8

C. 9:8 D. NONE

Please mark (✓) for the correct answer.

If there are 10 people in a trip then the average height of all is 160 cm, but if 8 people go in the trip then the
average height reduces by 1 cm. nd the average height of remaining two?

A. 160 cm B. 164 cm

C. 155 cm D. NONE

Please mark (✓) for the correct answer.

The average of three numbers is 57. When six more numbers are included the average becomes one-third
more of the previous average, what is the di erence between the averages of the two sets of numbers?

A. 29.4 B. 29.3

C. 28.5 D. NONE

Please mark (✓) for the correct answer.

A mobile phone and a tablet were sold at a pro t of 10% and at a loss of 6 % respectively. If the cost price of
the mobile is 1.5 times of the tablet, what is the overall pro t percentage earned by selling both the articles?

A. 4% B. 1%

C. 3.6% D. NONE

Please mark (✓) for the correct answer.

On selling a book in Rs. 60, publisher get 1/11 part of its cost as loss, then nd cost price of the book?

A. 55 B. 66

C. 61 D. 77

Please mark (✓) for the correct answer.

Question: 28 of 125 Marks: 3QID: 1735

Question: 29 of 125 Marks: 3QID: 1736

Question: 30 of 125 Marks: 3QID: 1737

Question: 31 of 125 Marks: 3QID: 1738

Question: 32 of 125 Marks: 3QID: 1739
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If selling price of an article is 5/4 of cost price, and the ratio between pro t and selling price is 1: 5, pro t is
what percent of cost price?

A. 125% B. 13.5%

C. 67.5% D. 25%

Please mark (✓) for the correct answer.

A boat takes 2 hours to travel 28 km upstream. If the respective ratio between speed of boat downstream
and speed of boat upstream is 9:7, what is the speed of current?

A. 3 kmph B. 1 kmph

C. 2.4 kmph D. 2 kmph

Please mark (✓) for the correct answer.

56% of 450 + ? = 300

A. 52 B. 48

C. 42 D. 56

Please mark (✓) for the correct answer.

Pick out the supplementary angle of 15 °—

A. 165 ° B. 175 °

C. 185 ° D. 100 °

Please mark (✓) for the correct answer.

How many degrees are there in 2/5 of a right angle ?

A. 50 ° B. 72 °

C. 36 ° D. NONE

Please mark (✓) for the correct answer.

Question: 33 of 125 Marks: 3QID: 1740

Question: 34 of 125 Marks: 3QID: 1741

Question: 35 of 125 Marks: 3QID: 1742

Question: 36 of 125 Marks: 3QID: 1743

Question: 37 of 125 Marks: 3QID: 1744
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What is the greatest number of four digits which is divisible by 15, 25, 40 and 75 ?

A. 9800 B. 9600

C. 9400 D. 9200

Please mark (✓) for the correct answer.

Three numbers are in the ratio of 2 : 3 : 4 and their L.C.M. is 240. Their H.C.F. is:

A. 40 B. 30

C. 20 D. 10

Please mark (✓) for the correct answer.

Arun bought a computer with a 15% discount on the labelled price. He sold the computer for Rs. 2880 with
20% pro t on the labelled price. At what price did he buy the computer?

A. Rs. 3000 B. Rs. 2080

C. Rs. 2040 D. Rs. 2000

Please mark (✓) for the correct answer.

If selling price of an article is Rs. 250, pro t percentage is 25%. Find the ratio of the cost price and the selling
price

A. 5:3 B. 3:5

C. 4:5 D. 5:4

Please mark (✓) for the correct answer.

Two pipes A and B can ll a tank in 12 and 24 minutes respectively. If both the pipes are used together,
then how long will it take to ll the tank?

A. 9 min B. 8 min

C. 6 min D. 4 min

Please mark (✓) for the correct answer.

Question: 38 of 125 Marks: 3QID: 1745

Question: 39 of 125 Marks: 3QID: 1746

Question: 40 of 125 Marks: 3QID: 1747

Question: 41 of 125 Marks: 3QID: 1748

Question: 42 of 125 Marks: 3QID: 1749
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Pipes A and B can ll a tank in 5 and 6 hours respectively. Pipe C can empty it in 12 hours. If all the three
pipes are opened together, then the tank will be lled in:

A. 4 B. 3

C. 2 D. none

Please mark (✓) for the correct answer.

The average age of three girls is 25. Fifteen year hence, the ratio is in the proportion 3:5:7. The age of the
youngest girl is?

A. 20 B. 24

C. 25 D. 23

Please mark (✓) for the correct answer.

A, B and C share a sum of money in the ratio 7:8:16. If C receives Rs. 27 more than A, then the total money
shared was?

A. 65 B. 93

C. 445 D. 450

Please mark (✓) for the correct answer.

Each member of Rahul’s family had one pizza for lunch. Each pizza costs Rs. 125. What else do you need to
know to nd out how much the family spent on lunch ?

A. The price of hamburger B. How many people are in the family

C. Which family member paid for lunch D. How much money Rahul’s father had in his wallet

Please mark (✓) for the correct answer.

Alka ordered 17 cases of pens. Each case holds 12 boxes and each box holds 48 pens. How many pens did
alka order altogether ?

A. 9542 B. 9312

C. 9792 D. 8472

Please mark (✓) for the correct answer.

Question: 43 of 125 Marks: 3QID: 1750

Question: 44 of 125 Marks: 3QID: 1751

Question: 45 of 125 Marks: 3QID: 1752

Question: 46 of 125 Marks: 3QID: 1753

Question: 47 of 125 Marks: 3QID: 1754
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Which set of numbers lists all the factors of the number 66?

A. {1, 11} B. {1, 6, 12, 33}

C. {1, 2, 3, 4, 5, 6} D. {1, 2, 3, 6, 11, 22, 33, 66}

Please mark (✓) for the correct answer.

Which of the following pairs of numbers is not co prime?

A. 51 and 52 B. 12 and 80

C. 100 and 111 D. 81 and 91

Please mark (✓) for the correct answer.

Which set of numbers lists all the common multiples of 5 and 7 that are less than 100?

A. {35, 70} B. {25, 50, 75}

C. {35, 45, 70} D. none of these

Please mark (✓) for the correct answer.

Instruction: In the following question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Scientists see the evidence (1)/ of early life in (2)/ ancient rocks. (3)/ No Error (4

A. 1 B. 2

C. 3 D. 4

Please mark (✓) for the correct answer.

Instruction: In the following question, some part of the sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option. If a sentence is free from error, select 'No Error'.

Before you finalise (1)/ any of them, search (2)/ and comparing. (3)/ No Error (4)

A. 1 B. 2

C. 3 D. 4

Please mark (✓) for the correct answer.

Question: 48 of 125 Marks: 3QID: 1755

Question: 49 of 125 Marks: 3QID: 1756

Question: 50 of 125 Marks: 3QID: 1757

Question: 51 of 125 Marks: 2QID: 1758

Question: 52 of 125 Marks: 2QID: 1759
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Aashish tried to ______ smoking, but did not succeed.

A. get away B. put out

C. give up D. do away

Please mark (✓) for the correct answer.

Select the correct alternative out of the four and indicate it by selecting the appropriate option. 

Ashina has invited some of her friends ______ coffee.

A. on B. for

C. to D. at

Please mark (✓) for the correct answer.

In the following question, out of the give four alternatives, select the one which best expresses the meaning
of the given word.
Amplify

A. Boost B. Contract

C. Curtail D. Shorten

Please mark (✓) for the correct answer.

In the following question, out of the give four alternatives, select the one which best expresses the meaning
of the given word.
Casual

A. Planned B. Occasional

C. Deliberate D. Serious

Please mark (✓) for the correct answer.

In the following question, out of the give four alternatives, select the one which best expresses the meaning
of the given word.
Insane

A. Reasonable B. Healthy

C. Crazy D. Balanced

Please mark (✓) for the correct answer.

Question: 53 of 125 Marks: 2QID: 1760

Question: 54 of 125 Marks: 2QID: 1761

Question: 55 of 125 Marks: 2QID: 1762

Question: 56 of 125 Marks: 2QID: 1763

Question: 57 of 125 Marks: 2QID: 1764
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In the following question, out of the give four alternatives, select the one which is opposite in meaning of
the given word.
Hinder

A. Arrest B. Aid

C. Check D. Curb

Please mark (✓) for the correct answer.

In the following question, out of the give four alternatives, select the one which is opposite in meaning of
the given word.
Provident

A. Wasteful B. Saving

C. Cautious D. Prepared

Please mark (✓) for the correct answer.

In the following question, out of the give four alternatives, select the one which is opposite in meaning of
the given word.
Subtle

A. Fine B. Implied

C. Indirect D. Harsh

Please mark (✓) for the correct answer.

In the following question, out of the four given alternatives, select the alternative which best expresses the
meaning of the Idiom/Phrase.
at ease

A. To be uncomfortable B. To be in fashion

C. To be in a puzzling state D. To be in danger

Please mark (✓) for the correct answer.

Question: 58 of 125 Marks: 2QID: 1765

Question: 59 of 125 Marks: 2QID: 1766

Question: 60 of 125 Marks: 2QID: 1767

Question: 61 of 125 Marks: 2QID: 1768
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In the following question, out of the four given alternatives, select the alternative which best expresses the
meaning of the Idiom/Phrase.
Get the upper hand

A. To revenge B. To start to go

C. To take risk D. To get an advantage

Please mark (✓) for the correct answer.

Improve the bracketed part of the sentence.
Today is the (original day) to complete this, after it you won’t be able to do so.

A. last day B. first day

C. second day D. No improvement

Please mark (✓) for the correct answer.

Improve the bracketed part of the sentence. 
(Attention) is better than cure.

A. Examination B. Prevention

C. Creation D. No improvement

Please mark (✓) for the correct answer.

In the following question, out of the four given alternatives, select the alternative which is the best
substitute of the phrase.
Science of writing and compiling a dictionary

A. Calligraphy B. Lexicography

C. Autobiography D. Bibliography

Please mark (✓) for the correct answer.

In the following question, out of the four given alternatives, select the alternative which is the best
substitute of the phrase.
Science of the constitution of the whole universe

A. Cosmopolitan B. Chronicle

C. Cosmography D. Connoisseur Correct

Please mark (✓) for the correct answer.

Question: 62 of 125 Marks: 2QID: 1769

Question: 63 of 125 Marks: 2QID: 1770

Question: 64 of 125 Marks: 2QID: 1771

Question: 65 of 125 Marks: 2QID: 1772

Question: 66 of 125 Marks: 2QID: 1773
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In the following question, a word has been written in four di erent ways out of which only one is correctly
spelt. Select the correctly spelt word.

A. Challing B. Challenge

C. Challeng D. Chaillenge

Please mark (✓) for the correct answer.

Select the correctly spelt word.

A. Diagnose B. Daignose

C. Diagnause D. Diagnuase

Please mark (✓) for the correct answer.

Rearrange the parts of the sentence in correct order.
Good books : man in various : have always helped : spheres of life
                                P                         Q                               R

A. QPR B. RPQ

C. RQP D. QRP

Please mark (✓) for the correct answer.

Rearrange the parts of the sentence in correct order.
There is a : in doing one’s work : honestly and effciently : sense of joy
                                 P                                  Q                          R

A. QPR B. RPQ

C. RQP D. QRP

Please mark (✓) for the correct answer.

Question: 67 of 125 Marks: 2QID: 1774

Question: 68 of 125 Marks: 2QID: 1775

Question: 69 of 125 Marks: 2QID: 1776

Question: 70 of 125 Marks: 2QID: 1777
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(1)_________ is everything which we do in the right way in right time. It leads (2)________ on the right path. We all
follow various types of discipline in our (3)________ lives. There are many(4)__________ like we wake up in the early
morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have (5)_______,
go to school in uniform at right time, etc all are discipline.

Fill in blank (2) with the most appropriate option.

A. us B. you

C. them D. He

Please mark (✓) for the correct answer.

In the following passage some of the words have been left out. Read the passage carefully and select the
correct answer for the given blank out of the four alternatives.
(1)_________ is everything which we do in the right way in right time. It leads (2)________ on the right path. We all
follow various types of discipline in our (3)________ lives. There are many(4)__________ like we wake up in the early
morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have (5)_______,
go to school in uniform at right time, etc all are discipline.

Fill in blank (1) with the most appropriate option.

A. Religion B. Relation

C. Discipline D. Origin

Please mark (✓) for the correct answer.

(1)_________ is everything which we do in the right way in right time. It leads (2)________ on the right path. We all
follow various types of discipline in our (3)________ lives. There are many(4)__________ like we wake up in the early
morning, drink a glass of water, go to the washroom to get fresh, do brush our teeth, take bath, have (5)_______,
go to school in uniform at right time, etc all are discipline.

Fill in blank (3) with the most appropriate option.

A. boring B. daily

C. caring D. daring

Please mark (✓) for the correct answer.

(1)________ is everything which we do in the right way in right time. It leads (2)________ on the right path. We all follow various types of
discipline in our (3)________lives. There are many (4)_______ like we wake up in the early morning, drink a glass of water, go to the
washroom to get fresh, do brush our teeth, take bath, have (5)_________, go to school in uniform at right time, etc all are
discipline.
Fill in blank (4) with the most appropriate option.

A. exceptions B. citations

C. creations D. examples

Please mark (✓) for the correct answer.

Question: 71 of 125 Marks: 2QID: 1778

Question: 72 of 125 Marks: 2QID: 1779

Question: 73 of 125 Marks: 2QID: 1780

Question: 74 of 125 Marks: 2QID: 1781
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(1)_________ is everything which we do in the right way in right time. It leads (2)_________ on the right path. We all follow various types
of discipline in our (3)_________lives. There are many (4)_________ like we wake up in the early morning, drink a glass of water, go to
the washroom to get fresh, do brush our teeth, take bath, have (5)_________, go to school in uniform at right time, etc all are discipline.

Fill in blank (5) with the most appropriate option.

A. lunch B. breakfast

C. dinner D. snacks

Please mark (✓) for the correct answer.

35, 53 , 57, 75, 79, ......

A. 311 B. 97

C. 95 D. 47

Please mark (✓) for the correct answer.

​ 134, 245, 356, ......578.

A. 478 B. 314

C. 475 D. 467

Please mark (✓) for the correct answer.

21, 42, 23, 46, 25,......27.

A. 48 B. 50

C. 60 D. 64

Please mark (✓) for the correct answer.

‘Bank’ is related to ‘Money’ in the same way as ‘Transport’ is related to—

A. Road B. Movement

C. Goods D. Speed

Please mark (✓) for the correct answer.

Question: 75 of 125 Marks: 2QID: 1782

Question: 76 of 125 Marks: 2QID: 1813

Question: 77 of 125 Marks: 2QID: 1814

Question: 78 of 125 Marks: 2QID: 1815

Question: 79 of 125 Marks: 2QID: 1816
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‘Captain’ is related to ‘Soldier’ as ‘Leader’ is related to—

A. Party B. Vote

C. Follower D. Minister

Please mark (✓) for the correct answer.

‘Car’ is related to ‘Garage’ as ‘Aeroplane’ is related to—

A. Station B. Hangar

C. Port D. Depot

Please mark (✓) for the correct answer.

‘Food’ is related to ‘Stomach’ as ‘Fuel’ is related to—

A. Car B. Train

C. Engine D. Truck

Please mark (✓) for the correct answer.

‘Bank’ is related to ‘River’ as ‘Coast’ is related to—

A. Beach B. Waves

C. Water D. Sea

Please mark (✓) for the correct answer.

‘Drama’ is related to ‘Stage’ as ‘Tennis’ is related to—

A. Net B. Field

C. Tournament D. Court

Please mark (✓) for the correct answer.

Question: 80 of 125 Marks: 2QID: 1817

Question: 81 of 125 Marks: 2QID: 1818

Question: 82 of 125 Marks: 2QID: 1819

Question: 83 of 125 Marks: 2QID: 1820

Question: 84 of 125 Marks: 2QID: 1821
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If the code of QBSJT is PARIS, what will be the code of MPOEPO ?

A. KANPUR B. LONDON

C. MYSORE D. MOSCOW

Please mark (✓) for the correct answer.

In a certain code PRODUCTS is written as NPMBSARQ. How is COMPUTERS written in that code ?

A. AMKNSRCPQ B. MCKNRSCPQ

C. KNRSCPQCMK D. CMKSNRCP

Please mark (✓) for the correct answer.

In a certain code DIMPLE is written as EKPTQK then how you will code SOCIAL ?

A. QTFMER B. EKPTQK

C. TQFMER D. EPKTQK

Please mark (✓) for the correct answer.

In a certain code CAPTAIN is coded as DCSXFOU, then how you will code PLAYERS ?

A. QNDCJYS B. NQQCJZY

C. QNDCYJZ D. QNDCJYZ

Please mark (✓) for the correct answer.

If the code of ANKLE is CRANKLE, then what will be the code of OWN ?

A. AOWNP B. CROWN

C. RCOWN D. OCROWN

Please mark (✓) for the correct answer.

Question: 85 of 125 Marks: 2QID: 1822

Question: 86 of 125 Marks: 2QID: 1823

Question: 87 of 125 Marks: 2QID: 1824

Question: 88 of 125 Marks: 2QID: 1825

Question: 89 of 125 Marks: 2QID: 1826
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If 1234 is coded as AbCd then 5678 will be coded as—

A. IFGH B. EFgH

C. EfGh D. eEgH

Please mark (✓) for the correct answer.

If NEARER is coded as AENRER and SYSTEM is coded as SYSMET, then MOTHER will be coded as—

A. MOHTER B. TMORHE

C. OHMTRE D. TOMREH

Please mark (✓) for the correct answer.

In a certain language NATURE is coded as MASUQE, how is FAMINE coded in that code ?

A. EALIME B. FLAIME

C. FZNJME D. AELMIE

Please mark (✓) for the correct answer.

In a certain language, RIPPLE is coded as 613382 and LIFE is coded as 8192. How is PILLER written in that
code ?

A. 318286 B. 318826

C. 618826 D. 182386

Please mark (✓) for the correct answer.

If in a certain language BROWN is coded as ZPMUL, VIOLET will be coded as—

A. TGWCQ B. TGMJCQ

C. TGMJCR D. GMTJCR

Please mark (✓) for the correct answer.

Question: 90 of 125 Marks: 2QID: 1827

Question: 91 of 125 Marks: 2QID: 1828

Question: 92 of 125 Marks: 2QID: 1829

Question: 93 of 125 Marks: 2QID: 1830

Question: 94 of 125 Marks: 2QID: 1831
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If in a certain language SYSTEM is coded as 131625, then in the same language TEEMS will be coded as—

A. 62251 B. 61152

C. 51162 D. 51126

Please mark (✓) for the correct answer.

In a certain language BEAT is written as GIDV, then SOUP will be written as—

A. UXSR B. VSXR

C. XSXR D. SXRX

Please mark (✓) for the correct answer.

93, 90, 87, 84......

A. 90 B. 81

C. 79 D. 76

Please mark (✓) for the correct answer.

20, 18, 30, 16, 40, 14......

A. 16 B. 56

C. 50 D. 15

Please mark (✓) for the correct answer.

1, 2, 4, 3, 7, 4, 10......

A. 11 B. 10

C. 5 D. 13

Please mark (✓) for the correct answer.

Question: 95 of 125 Marks: 2QID: 1832

Question: 96 of 125 Marks: 2QID: 1808

Question: 97 of 125 Marks: 2QID: 1809

Question: 98 of 125 Marks: 2QID: 1810

Question: 99 of 125 Marks: 2QID: 1811
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54, 45, 36, 27, ......09.

A. 18 B. 16

C. 63 D. 12

Please mark (✓) for the correct answer.

Marina, the longest beach in India is in which state?

A. Tamil Nadu B. Maharashtra

C. Gujarat D. West Bangal

Please mark (✓) for the correct answer.

Which is the largest Cinema Theatre in India ?

A. Roxy theatre at Mumbai B. Imperial theatre at Kolkata

C. Thangam theatre at Madurai D. Chitra theatre at New Delhi

Please mark (✓) for the correct answer.

The flag of U.S.A. is called ____

A. Union Jack B. Stars and Stripes

C. Tri Colour D. None of these

Please mark (✓) for the correct answer.

Who was the only American President to have four terms ?

A. George Washington B. Abraham Lincolon

C. Franklin D. Roosevelt D. George Bush (Sr)

Please mark (✓) for the correct answer.

Question: 100 of 125 Marks: 2QID: 1812

Question: 101 of 125 Marks: 2QID: 1783

Question: 102 of 125 Marks: 2QID: 1784

Question: 103 of 125 Marks: 2QID: 1785

Question: 104 of 125 Marks: 2QID: 1786
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Who was also known as ‘Little Corporal’ ?

A. Lord Wellington B. Napolean Bonaparte

C. Lal Bahadur Shastri D. None of these

Please mark (✓) for the correct answer.

How many centuries make a millennium ?

A. 100 B. 10

C. 15 D. 50

Please mark (✓) for the correct answer.

In which city were the rst Asian Games held?

A. Jakarta B. New Delhi

C. Kualalumpur D. Cairo

Please mark (✓) for the correct answer.

What does a black flag symbolise ?

A. Surrender B. Peace

C. Protest D. None of these

Please mark (✓) for the correct answer.

Whose signature is found on a hundred rupee note ?

A. President of India B. Prime Minister of India

C. Finance Minister of India D. Governor, Reserve Bank of India

Please mark (✓) for the correct answer.

Question: 105 of 125 Marks: 2QID: 1787

Question: 106 of 125 Marks: 2QID: 1788

Question: 107 of 125 Marks: 2QID: 1789

Question: 108 of 125 Marks: 2QID: 1790

Question: 109 of 125 Marks: 2QID: 1791
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The airline of which country is called ‘Garuda’ ?

A. Sri Lanka B. Indonesia

C. Cambodia D. India

Please mark (✓) for the correct answer.

Which city of Uttar Pradesh is famous for its sports goods ?

A. Kanpur B. Lucknow

C. Meerut D. Saharanpur

Please mark (✓) for the correct answer.

‘Steel Town’ Jamshedpur is in which state?

A. Bihar B. West Bengal

C. Jharkhand D. Madhya Pradesh

Please mark (✓) for the correct answer.

Which Indian President, is also called the ‘Missile Man’ ?

A. Dr. Rajendra Prasad B. Dr. Zakir Hussain

C. Dr. A.P.J. Abdul Kalam D. None of these

Please mark (✓) for the correct answer.

Who wrote ‘India Wins Freedom’ ?

A. Mahatma Gandhi B. Abul Kalam Azad

C. Satyajit Ray D. None of these

Please mark (✓) for the correct answer.

Question: 110 of 125 Marks: 2QID: 1792

Question: 111 of 125 Marks: 2QID: 1793

Question: 112 of 125 Marks: 2QID: 1794

Question: 113 of 125 Marks: 2QID: 1795

Question: 114 of 125 Marks: 2QID: 1796
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Paris is situated on the banks of which river?

A. Hudson B. Thames

C. Seine D. Danube

Please mark (✓) for the correct answer.

Which city in Maharashtra famous for oranges?

A. Mumbai B. Pune

C. Nasik D. Nagpur

Please mark (✓) for the correct answer.

Spiritual head of Tibetans, Dalai Lama lives in which city?

A. Dharamshala B. Bilaspur

C. Solan D. Shimla

Please mark (✓) for the correct answer.

The potato that we eat is a _____

A. Root B. Stem

C. Bud D. None of these

Please mark (✓) for the correct answer.

What is the Capital of Argentina?

A. Brussels B. Lapaz

C. Sofia D. Buenos Aires

Please mark (✓) for the correct answer.

Question: 115 of 125 Marks: 2QID: 1797

Question: 116 of 125 Marks: 2QID: 1798

Question: 117 of 125 Marks: 2QID: 1799

Question: 118 of 125 Marks: 2QID: 1800

Question: 119 of 125 Marks: 2QID: 1801
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What is the Currency of Italy?

A. Peso B. Krone

C. Euro D. None of these

Please mark (✓) for the correct answer.

where is the largest dome in India (Gol Gumbaz) situated?

A. Andhra Pradesh B. Kerala

C. Karnataka D. Rajasthan

Please mark (✓) for the correct answer.

Which country is known as ‘Cockpit of Europe’ ?

A. Brazil B. Italy

C. Norway D. Belgium

Please mark (✓) for the correct answer.

Who wrote ‘Panchtantra’ ?

A. Kalidas B. Vishnu Sharma

C. Bharathari D. None of these

Please mark (✓) for the correct answer.

Which is the largest key on a computer key board ?

A. Shift key B. Enter key

C. Space key D. Alter key

Please mark (✓) for the correct answer.

Question: 120 of 125 Marks: 2QID: 1802

Question: 121 of 125 Marks: 2QID: 1803

Question: 122 of 125 Marks: 2QID: 1804

Question: 123 of 125 Marks: 2QID: 1805

Question: 124 of 125 Marks: 2QID: 1806
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Where is the Head Quarters of U.N.O. ?

A. London B. New York

C. Washington D. Canberra

Please mark (✓) for the correct answer.

 

Question: 125 of 125 Marks: 2QID: 1807

--- END OF QUESTION PAPER ---
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No Question Type QID Correct Answer
Question - 1 Multiple Choice (Radiobutton) 1708 A

Question - 2 Multiple Choice (Radiobutton) 1709 B

Question - 3 Multiple Choice (Radiobutton) 1710 C

Question - 4 Multiple Choice (Radiobutton) 1711 C

Question - 5 Multiple Choice (Radiobutton) 1712 D

Question - 6 Multiple Choice (Radiobutton) 1713 A

Question - 7 Multiple Choice (Radiobutton) 1714 B

Question - 8 Multiple Choice (Radiobutton) 1715 B

Question - 9 Multiple Choice (Radiobutton) 1716 D

Question - 10 Multiple Choice (Radiobutton) 1717 B

Question - 11 Multiple Choice (Radiobutton) 1718 D

Question - 12 Multiple Choice (Radiobutton) 1719 A

Question - 13 Multiple Choice (Radiobutton) 1720 D

Question - 14 Multiple Choice (Radiobutton) 1721 B

Question - 15 Multiple Choice (Radiobutton) 1722 A

Question - 16 Multiple Choice (Radiobutton) 1723 D

Question - 17 Multiple Choice (Radiobutton) 1724 D

Question - 18 Multiple Choice (Radiobutton) 1725 A

Question - 19 Multiple Choice (Radiobutton) 1726 B

Question - 20 Multiple Choice (Radiobutton) 1727 D

Question - 21 Multiple Choice (Radiobutton) 1728 A

Question - 22 Multiple Choice (Radiobutton) 1729 C

Question - 23 Multiple Choice (Radiobutton) 1730 B

Question - 24 Multiple Choice (Radiobutton) 1731 C

Question - 25 Multiple Choice (Radiobutton) 1732 A

Question - 26 Multiple Choice (Radiobutton) 1733 D

Question - 27 Multiple Choice (Radiobutton) 1734 B

Question - 28 Multiple Choice (Radiobutton) 1735 C

Question - 29 Multiple Choice (Radiobutton) 1736 B

Question - 30 Multiple Choice (Radiobutton) 1737 C

Question - 31 Multiple Choice (Radiobutton) 1738 C

Question - 32 Multiple Choice (Radiobutton) 1739 B

Question - 33 Multiple Choice (Radiobutton) 1740 D

Question - 34 Multiple Choice (Radiobutton) 1741 D

Question - 35 Multiple Choice (Radiobutton) 1742 B

Question - 36 Multiple Choice (Radiobutton) 1743 A

Question - 37 Multiple Choice (Radiobutton) 1744 C

Question - 38 Multiple Choice (Radiobutton) 1745 B

Question - 39 Multiple Choice (Radiobutton) 1746 C

Question - 40 Multiple Choice (Radiobutton) 1747 C

Question - 41 Multiple Choice (Radiobutton) 1748 C

Question - 42 Multiple Choice (Radiobutton) 1749 B
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Question - 43 Multiple Choice (Radiobutton) 1750 D

Question - 44 Multiple Choice (Radiobutton) 1751 B

Question - 45 Multiple Choice (Radiobutton) 1752 B

Question - 46 Multiple Choice (Radiobutton) 1753 B

Question - 47 Multiple Choice (Radiobutton) 1754 C

Question - 48 Multiple Choice (Radiobutton) 1755 D

Question - 49 Multiple Choice (Radiobutton) 1756 B

Question - 50 Multiple Choice (Radiobutton) 1757 A

Question - 51 Multiple Choice (Radiobutton) 1758 D

Question - 52 Multiple Choice (Radiobutton) 1759 C

Question - 53 Multiple Choice (Radiobutton) 1760 C

Question - 54 Multiple Choice (Radiobutton) 1761 B

Question - 55 Multiple Choice (Radiobutton) 1762 A

Question - 56 Multiple Choice (Radiobutton) 1763 B

Question - 57 Multiple Choice (Radiobutton) 1764 C

Question - 58 Multiple Choice (Radiobutton) 1765 B

Question - 59 Multiple Choice (Radiobutton) 1766 A

Question - 60 Multiple Choice (Radiobutton) 1767 D

Question - 61 Multiple Choice (Radiobutton) 1768 A

Question - 62 Multiple Choice (Radiobutton) 1769 D

Question - 63 Multiple Choice (Radiobutton) 1770 A

Question - 64 Multiple Choice (Radiobutton) 1771 B

Question - 65 Multiple Choice (Radiobutton) 1772 B

Question - 66 Multiple Choice (Radiobutton) 1773 C

Question - 67 Multiple Choice (Radiobutton) 1774 B

Question - 68 Multiple Choice (Radiobutton) 1775 A

Question - 69 Multiple Choice (Radiobutton) 1776 A

Question - 70 Multiple Choice (Radiobutton) 1777 B

Question - 71 Multiple Choice (Radiobutton) 1778 A

Question - 72 Multiple Choice (Radiobutton) 1779 C

Question - 73 Multiple Choice (Radiobutton) 1780 B

Question - 74 Multiple Choice (Radiobutton) 1781 D

Question - 75 Multiple Choice (Radiobutton) 1782 B

Question - 76 Multiple Choice (Radiobutton) 1813 B

Question - 77 Multiple Choice (Radiobutton) 1814 D

Question - 78 Multiple Choice (Radiobutton) 1815 B

Question - 79 Multiple Choice (Radiobutton) 1816 C

Question - 80 Multiple Choice (Radiobutton) 1817 C

Question - 81 Multiple Choice (Radiobutton) 1818 B

Question - 82 Multiple Choice (Radiobutton) 1819 C

Question - 83 Multiple Choice (Radiobutton) 1820 D

Question - 84 Multiple Choice (Radiobutton) 1821 D

Question - 85 Multiple Choice (Radiobutton) 1822 B

Question - 86 Multiple Choice (Radiobutton) 1823 A

Question - 87 Multiple Choice (Radiobutton) 1824 C

Question - 88 Multiple Choice (Radiobutton) 1825 D

No Question Type QID Correct Answer
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Question - 89 Multiple Choice (Radiobutton) 1826 B

Question - 90 Multiple Choice (Radiobutton) 1827 C

Question - 91 Multiple Choice (Radiobutton) 1828 D

Question - 92 Multiple Choice (Radiobutton) 1829 A

Question - 93 Multiple Choice (Radiobutton) 1830 B

Question - 94 Multiple Choice (Radiobutton) 1831 C

Question - 95 Multiple Choice (Radiobutton) 1832 A

Question - 96 Multiple Choice (Radiobutton) 1808 C

Question - 97 Multiple Choice (Radiobutton) 1809 B

Question - 98 Multiple Choice (Radiobutton) 1810 C

Question - 99 Multiple Choice (Radiobutton) 1811 C

Question - 100 Multiple Choice (Radiobutton) 1812 A

Question - 101 Multiple Choice (Radiobutton) 1783 A

Question - 102 Multiple Choice (Radiobutton) 1784 C

Question - 103 Multiple Choice (Radiobutton) 1785 B

Question - 104 Multiple Choice (Radiobutton) 1786 C

Question - 105 Multiple Choice (Radiobutton) 1787 B

Question - 106 Multiple Choice (Radiobutton) 1788 B

Question - 107 Multiple Choice (Radiobutton) 1789 B

Question - 108 Multiple Choice (Radiobutton) 1790 C

Question - 109 Multiple Choice (Radiobutton) 1791 D

Question - 110 Multiple Choice (Radiobutton) 1792 B

Question - 111 Multiple Choice (Radiobutton) 1793 C

Question - 112 Multiple Choice (Radiobutton) 1794 C

Question - 113 Multiple Choice (Radiobutton) 1795 C

Question - 114 Multiple Choice (Radiobutton) 1796 B

Question - 115 Multiple Choice (Radiobutton) 1797 C

Question - 116 Multiple Choice (Radiobutton) 1798 D

Question - 117 Multiple Choice (Radiobutton) 1799 A

Question - 118 Multiple Choice (Radiobutton) 1800 B

Question - 119 Multiple Choice (Radiobutton) 1801 D

Question - 120 Multiple Choice (Radiobutton) 1802 C

Question - 121 Multiple Choice (Radiobutton) 1803 C

Question - 122 Multiple Choice (Radiobutton) 1804 D

Question - 123 Multiple Choice (Radiobutton) 1805 B

Question - 124 Multiple Choice (Radiobutton) 1806 C

Question - 125 Multiple Choice (Radiobutton) 1807 B

No Question Type QID Correct Answer

--- END OF ANSWER KEY ---
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